DAILY BASIS ASSIGNMENT
DAY: MONDAY CLASS: V DATE:18.05.2020

SUBJECT: ENGLISH

1.

Which sentence has the correct ending punctuation mark?
a. Tom went to the store to buy bread!

b. Tom went to the store to buy bread

c. Tom went to the store to buy bread.

d. Tom went to the store to buy bread?

Which sentence has the correct ending punctuation mark?
a. When is your birthday

b. When is your birthday?

c. When is your birthday!

d. When is your birthday.

Which sentence has the correct ending punctuation mark?

a. The parade is coming and | am going to get lots of candy?
b. The parade is coming and | am going to get lots of candy!
c. The parade is coming and | am going to get lots of candy

d. The parade is coming and | am going to get lots of candy,

Which sentence has the correct ending punctuation mark?
a. Go to your room and do your homework before supper
b. Go to your room and do your homework before supper?
c. Go to your room and do your homework before supper!
d. Go to your room and do your homework before supper.

Which sentence has the correct ending punctuation mark?
a. Tom and his sister rode the bus to school?
b. Tom and his sister rode the bus to school,
c. Tom and his sister rode the bus to school.
d. Tom and his sister rode the bus to school!

SUBJECT: EVS

1.

CHOOSE THE CORRECT OPTION
Microscopic animals use the following to breathe.

a) body surface b)spiracles c)lungs  d) gills



2. Hervivores have sharp front teeth called

a) canines b) incisors  ¢) premolars  d) molars
3. Carnivores have sharp and pointed front teeth called
a) incisors b) premolars  c) canines d) molars

4. The three main classes in which animals can be classified on the basis of their eating habits
are:

a) herbivores b) carnivores  c¢) omnivores  d) all of them.
5. Cow, goat and deer are some

a) herbivores b) carnivores  c) omnivores  d) decomposers.

SUBJECT: MATHS

l. Choose the correct answers
1. 23416+72104 =3624+..........
a) 91896 h) 36921  ¢)21831 d) 62918
2.9416 — 2314 =8416- .............
a)1231 b)1314 ¢)2315 d) 3213
3. If price of one book is Rs250, then what will be the price of 10 such books.
a) 1250 b) 1000 c) 2500 d) 250000
4, 9462x55=.........
a) 93425 b) 495465 c) 50000 d) 520410
5. Rohan purchased 5 toys for Rs7545 and price of each toy is same. Find the price of each toy.

a)1500  b)1509 ) 1000  d)2000

SUBJECT: COMPUTER

l. Choose the best options from those given below:
i) Computers can
(a) steer your car (b) bill your purchases  (c) guide missiles  (d) all of these

i) Computers is an electronic device which receives
(a) output (b) input (c) process (d) program



iii) Components of a computer system is/are

(a) Hardware (b) Software (c) Network (d) Both (a) and (b)
iv) What form the input that the computer receives
(b) Data (b) Program (c) Document (d) Both (a) and (b)
v) MS Word helps us to
(a) paint (b) type documents (c) to browse (d) all of these
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